WS : 603551 WZRfaifR: B xE %5 2024-030
ERERABEIRAT
XTFEHTBERTEEN LS

Al HE R LR HEFRIEAR N & N EAMAEEM EEOC . R P IERE
o ORI, IR L AR RS L AERR AN e B A A DT

BERENAFRR:

o WUFEIHAIRAT CUFREAR AT “HEMEE") [ 2023 4
1A 1 BRI BRI T (k2R 165 « T 8
52 5 72 10 7 5 AR 61 3 5 4 B RS T B A S 0 2 1
LRER” B

o RRLUHFETHM RIEFEABAT" . “BAABY . “RHE
R CSHORARRGET . TSR R . MR
B AR B, Tt 2 T S5 USR8 SR A T KR

— RBRTEHE

(=) SHBRTEREEARAR

NEIE 2023 41 H 1 HEWRATWEGEMARR (St 16
Y CORTRRINAZ Z) A H B AR SR DR 1 A BT S AL ANE FH UG R ER T
H2= i AbFE” FH5E

(=) EESTFIUER

NET 2024 4E 4 B 23 HAASE = mEFHFSHNRESW, HGE T
(RTFLTFBORAE RN , [FE A SRR BGH R AT A I Al 21 HAEN
FAREAH AR B 1 IEOK, AHIEE RS HIMARIEE N, TR A RS
.




= FR2VBUREE R FF AR AT

NEVAEEIRPAT Al THENARRESE 165 ) I 55 TR 21 i foe 7200 1) 11
A E T IR AT B 2 18 2R R P2 E (1 IS 2 202 e AT IR B o XEE
URARAT R RE 19 55 #0821 i e - 39T 1) (100 39300 DR 3 P 122 € 11 B0 TS 5 T A A
(IR ST BRI E BB 7, AR I 57 B S5 AR SR SR TR o (AR 5C 5577
77 A SN GRS BT IR 2 S R PR I PR 2 S 1, AR A (Al 2 v HE N 5
185 —— 38D HIRLAE, R AR MBI B 5545 A 51 41 i - 300 1) 1 3400 B £
e ot e LABAH R S5 IR I H . BAR RGBT

LEE A
Z BB R R I H 5 40

2022412 31 H Bt i fii 2 1 H
18 JiE T 4530 5 197, 406. 30
BRAR 2, 064. 90
R B 115, 800. 64
DR AR A A 79, 540. 76
20224 FEMIE L I H
A4 2 H -56, 144. 70
2 ZIRE 56, 144. 70
W& ik 27, 304. 60

) H 2023 F B AT AT I B AT ) (Al s tHHEN AR S5 17 5 ) “ oK%
THEEMEZZ S 2t ” #E, w2021F1H1H 2 EIFRNEEHEA S
BEATIE A RE . I THBCRAS NS 24 7] W S5 IR TE i

E\ I $K:§\

W%, WFESINN: ARSTHERA BRI K G — RS TR
BHATHI A AL, FFEMRME, PATERE GRS BRI ZI. A Rtk
23 ] B I 55 AR BUAT 2875 R

. 2HIHRFSAER

I T AR AL v BUR TS R AR v T3 55 Bl (R ok 8 A 4K #E4T 7



WELVAIE, KA THITE S5 T (R IR E 8 A 1K) Bt 2 m) A IR I BGHR A A (il
2THEMNREEE165) FIEORAMART 2P BORFIUL R, JFHA T (TR
R AR A IR A A 2 BERA L W)

. BHERSEYNIEL

ZeHi %, HIFR RN AR 2 TFBRGRRYE E SO G & THE I
MR R SE , FFEEEEIL BVEPESCIF A R HE , AR THBUR AL A e
W A S A F I SR E R, 7T E A mMBARA R, it
A2 AR AR B 2 T BOR R I

B A R AR ESES
“ECPENHA A+ =H



